OPTIONAL SPARES AND TIRES

S-305S  GT front lowered tires (x2) S-309  F1 GTR - Unpainted wheel inserts set (x4)

$-306M  GT STANDARD 30 shore rear tires (x2) $-309D  F1 GTR - Painted wheel inserts (x4) - DARK GREY S/ot ca,'s
S-306-R  GT Rear “RACE” tires 35 shore (x2) S-309G  F1 GTR - Painted wheel inserts (x4) - GOLD

S-306E  GT SOFT NEW 22 shore rear tires (x2) S-309S  F1 GTR - Painted wheel inserts (x4) - SILVER

S-306S  GT SUPERSOFT 15 shore rear tires (x2)
S-306SP  GT Rear Sponge tires (x2)

S-306SS GT Rear wheels + sponge tyres glued (x2)
S-604B  GREEN Aluminum mounts H 3.5mm for F.0.S
S-605B  Brass “nuts” H 3.75mm (x5)

S-605C  Brass “nuts” H 4.0mm (x5)

S-611 Full set of screws

S-013S  Steel body screws for 1.5 A.K. for F.0.S.
S-033SE  SUPER-EVO BRM long-can motor

SN

McLAREN

S-067S AW 38T Spur Gear @ 20.1mm + M3 screw S-034S AW 10T Brass pinion @ 6.0mm
S-053S AW 42T Spur Gear @ 22.1mm + M3 screw S-076 AW 12T Brass pinion @ 6.8mm
S-094S AW 44T Spur Gear @ 23.0mm + M3 screw S-077 AW 13T Brass pinion @ 7.3mm

S-0130  Black 0-Rings for F.0.S. (x10)

S-421A  Screws M2x6 Sink Head for Allen Key 1.3mm (x10)
S-421C  Screws M2x4 Sink Head for Allen Key 1.3mm (x10)
S-013R  Rubber covers for body post - standard H1.0mm (x4)

S-013RA  Rubber covers for body post - H0.5mm (x4) ?ezmg?lf Reacing 424
S-013RB  Rubber covers for body post - H1.5mm (x4) 24h Le Mans 1995
S-013RC  Rubber covers for body post - H2.0mm (x4)

BRMO032K2 F1 GTR full white kit - with new racing preassembled chassis

BRM-KAF1GTR  Upgrade kit F1 GTR (new aluminum racing chassis and parts)

1/724 SCALE

NEW RACING CHASSIS

WHITE BODY KITS AND PARTS - KIT

S-301 Full white body kit S-303D  Lexan cockpit - “detailed lower version”
S-302  Painted clear parts set S-304  Rubber mirrors set (x1)
S-303 Lexan cockpit “straight version” S-304A  Rubber Antenna (x2)

OPTIONAL CHASSIS CONFIGURATION

S-606S
Aluminum
indipendent axle
holders (x2)

BRM151
Team Gulf Racing #25

24h Le Mans 1995

S-416K
Front steel axIés
3x17.5 mm (x2)

S-609A

Brass nut “6th point”
- reduce pod side

movement h 0.5 mm

S-603B
Longer connecting floating Y plate - different movement

- Slot Cars
BHM Via Bovasostegno, 73 - 45021 Badia Polesine (RO) - ltaly
i info@brmmodelcars.com - www.brmmodelcars.com



S-307 S$-033S

Front wheels Electric long-can S-308
with M3 screws (x2) “BRM T-RS” EVO Rear wheels with M3 screws (x2)
S-605A motor 25.000 rpm
Brass “nut”
A fS-G:)G e hold h3.5mm - STOCK
S-305 uminum front axle holders x5)

Front HARD tyres (x2)

S-410
Ball bearings
3x6mm flanged (x2)

S-607
Aluminum rear axle holders

S-026SS
Guide white blade S-410
with screws Ball bearings
3x6mm flanged (x2)
S-012AT
Steel axles 3x60 mm
RS210S
Guide screw
S-066S
41T Nylon AW spur gear
RS210SP @ 21.6 mm + M3 screw
Guide springs

S-306
Rear Tires SOFT
22 shore (x2)

v

=0

_____

S-075
S-0130R AW Brass pinion
Red Silicone S-608 11T @ 6.4 mm
S-012AT S-602M S-603A O-Rings (x10) Aluminum motor ’
S-604A Steel axles Aluminum anodized Aluminum anodised holder + screws
BLUE aluminun 3x60 mm BLACK connecting floating $-601 + photo-etch
mounts h 4.0 mm chassis plate Y plate Aluminum anodised
for FAST OPENING Black motor pod 3mm ‘ 1 l

SYSTEM thickness




